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SECTION-A
(AnswerALL questions) (10x2=2(

1. What is power?
. What do you understand by dangerous operai
. Write a note on scope and coverage of The ErepyCompensation A-1923
. Give the list of injuries leading to permaneisathlemen
. What are the activities excluded from retrenchisf.
. Sate the role of assessor under The Employees’ €nsgtion Ac-1923.
. What is an official gazette?
. List out the registers and records to be maiethby the employe
. Can the Persons engaged in trainin+ keeping and maintaining of animals be calle:
workmen?
10. What is meant by an appropriate governn
SECTION-B
(wer anyFIVE questions) (5x8=4(

11. Explain the rules regarding payment of wageshfe overtime
12. Write short notes on the followi

a) Weekly holidays b) Compensatory holic

c) Cetificate of fitness d) Validity and revocation miedical certificate
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13. Give the list of diseases as mentioned ir-A and PartB of The Employees’ Compensati
Act-1923.
14. Compare and contrast between the follov
a) Strike and Ldcout b) Retrenchment and Closi
15. Enlist and explain the provisions regardingfti®wing as under The Industrial Dispu
Act-1947.
a) Form of award b) Publication of award ¢) Comnasnent of awari
16. List out and explain the import aspects to be covered in the standing or
17. Explain in detail the rules regarding the le¥ypenalty under The Payment of Wa
Act-1948
18. Calculate the amount of compensation payaliled following case
a) An employee was perngamly and totally disabled due to the accident heldhe factory
Calculate the amount of compensation payable toasisuming that his age is 42 and
amount of wages earned by him is 15,000 per m¢R#levant factor =178.4
b) An employee has lost three fingers of one hahitevdischarging his official duty in tr
work place. Assuming that his age is 25 and theusrnof wages earned by him is Rs.11,
Calculate the amount of compensation payable to(Rietevant factor =216.9
SECTION-C
(Answer anyTWO Questions) (2x20=40)
19. “Employees are eligible to get wages with ahieave”. Do you agree? What are
provisions to be applied for the payment of wagik annual leavi




20. Bring out the legal provisions regarding thastdution, matters to be handled,
qualifications, disqualifications ,duties dgpowers of Labour courts and Industrial
Tribunals.

21. What are the various provisions to be apghedhe payment of compensation to the
employees in the following cases
a)Personal injury b) Permanent partial desaent ¢) Temporary total or partial

disablement.




